9 Academic Math Date:
Day 4: Graphing - X & Y Intercepts Unit 6: Analytical Geometry

DEFINITION: The y-intercept is the point on the y-axis where your line crosses or meets the y-axis. Itis
also the coordinate that has an x-value of ZERO. (0, y)

For each line on the grid to the right, state the
COORDINATE of the y-intercept. Line A'is
done for you.

A (0, 5)

B) (O .4)

c)(0.41)

D) (O ,-2)

E) (0 ,49)

What do all these points have in common?

X - values aqre “0O"

DEFINITION: The x-intercept is the point on the x-axis where your line crosses or meets the x-axis. Itis
also the coordinate that has a y-value of ZERO. (x, 0)

For each line on the grid to the right, state the N
COORDINATE of the x-intercept. Line Aisdone | & @ AN 1 1
for you. * e N
N(2.0) 0 3
B) (-3, 0) B i o
6 (51.0)
D) (1 ,0) N I
5 (6 .,0) T
Wihat do all these ponts have incommon?

a Vo, lues &ql-«af “0
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9 Academic Math
Day 4: Graphing - X & Y Intercepts

Date:
Unit 6: Analytical Geometry

Lesson: Graphing with x-Intercepts and y-Intercepts

¢ Note problems where you are asked to find both the intercepts, the line is usually not in y=mx+b form,
rather a different form (possibly standard form Ax + By + C = 0).

QUESTION 1: PART A
Given the equation 3x + 4y = 12 what are the
intercepts of this line.

SOLUTION
To find the y-intercept, the x-value must be 0.

1. Substitute x=0
2. Solve the equation for y

3(0) + Uy =17
=(2_

§ 4
==l =2

The y-interceptis ( 0 ,<3)

To find the x-intercept, the y-value must be 0.
1. Substitute y=0
2. Solve the equation for y

3x+Uulo)=\2
3x = (1
2 3

LJ( ch! ktl =0
The x-interceptis (4, 0 )

QUESTION 1: PART B
Graph the line 3x + 4y = 12 using the intercepts.

Plot the coordinates of each intercept and connect
the two points to create your line.

QUESTION 2 : PART A 12

Given the equation -6x + 18y — 24 = 0 what are the
intercepts of this line.

SOLUTION

To find the y-intercept, the x-value must be 0.
1. Substitute x=0
2. Solve the equation for y

-blo) *12y -2y=0
129 =2y
. 2

[x=] Ly=2]
The y-interceptis ( 0 , 2)

To find the x-intercept, the y-value must be 0.
1. Substitute y=0
2. Solve the equation for y
—bx+12lo)-2y=o

— by -.:2__({
¢ %
k:‘?

The x-intercept is ("Ll, 0)

QUESTION 2 : PART B
Graph the line -6x + 18y — 24 = 0 using the
intercepts. Iz

Plot the coordinates of each intercept and connect
the two points to create your line.
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9 Academic Math

Day 4: Graphing - X & Y Intercepts

Date:

Unit 6: Analytical Geometry

Practice: Graphing with x-Intercepts and y-Intercepts

a. 4x-y=8 | o o | b 7x—9y=63
x-intercept:cj =0 | x-intercept: 9=
Ux="1 Fx -Q(0)=63
=17 5{:‘7
(2, Oy |7 (9, 0
y-intercept: % =0 | y-intercept: X="0©
qlo)-y=13 ?(0)-‘?3: e]
g% Lo _-2
(O -8 (O 1)
C. X+2y=5 L..]d 2x-5y=-4
x-intercept: a:o .| x-intercept: Ctj:O
X+0=95 - 23( - -q
X=S" X=-2
(7,0 ) (2, 2 )
y-intercept: X% = QO | y-intercept: x=o
0-&23‘:? - ?':h‘(
9= a5 y= ~
(O, 29) (9 , 9.3
e. 3x+4y—-8=0 | f 4x-y=9
x-intercept: Y=0 | x-intercept:  y=2
IX —‘3‘:8 U= 9
Z=Sap%| X=YYy
(g/g’ L= )mli": (‘?/q ’p )
y-intercept: ¥ <= 0O | y-intercept: x= .o
L‘ :'3 :‘q
2: 2 &
(© 2 0 -2, .,/

ANSWERS: a. (2,0) (0, -8) b.(9,0), (0,-7) c.(5,0),(0,25) d.(-2,0),(0,0.8), e.(%,O)(O, 2) f.(%,O)(O, -9)

Complete: Textbook p.319 # 1, 3aceg, 6, 11
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